AIKERERRER]

A% FAERERKER

+ = KR HEK S

1 =
FEEUSFT STIE PN
B SM2EE $SHSEE SH4EE SHSEFEE HHeEE HKE &/IMiE T{E

RER B B 6H3H 6H2H 6H1H 6H7H 6A5H

R R B 12:11 13:02 12:15 12:26 12:21

X iz & & & & &

SR °Cc 315 27.2 29.1 29.2 275

KR °Cc 26.2 25.4 241 25.7 25.9
1 BHRE i3 19 24 38 39 33 39 19 31
2 pH 9.0 8.4 74 7.3 75 9.0 7.3 7.9
3 BOD mg/L 9.8 8.1 35 3.9 35 9.8 35 5.8
4 COD mg/L 9.6 11.0 6.6 7.6 6.2 11.0 6.2 8.2
5 SS mg/L 18 27 11 8 9 27 8 15
6 nAFHUHEHYME mg/L 0.5 jiki 0.5 i 0.5 5t 0.5k i 05K 05k  05KiE 05K
7 DO mg/L 11.0 13.0 7.9 9.4 11.0 13.0 7.9 105
8 HARZIHL mg/L 0.0003FKj#  0.00035j#H  0.0003>Ki#  0.0003>Ki#  0.0003Ki# 0.0003j# 0.0003iE 0.0003K i
9 &VTY mg/L N s EN s T e N dan N dan & TR
10 #A mg/L 0.001R 5 0.001 0.001K i 0.001 35 0.001KR 5 0.001 0.001K;# -
11 AffivaL mg/L 0.0055 i 0.005 ;i 0.005K ;% 0.0053K i 0.0053Ki# 0.005%# 0.0055FKiH 0.0055K i
12 % mg/L 0.002 0.002 0.002 0.002 0.002 0.002 0.002 0.002
13 2% mg/L 2.2 25 1.9 1.8 15 2.5 15 2.0
14 £ mg/L 0.44 0.55 0.52 0.52 0.32 0.55 0.32 0.47




AIKEAERREERR]

A% FAERERKER

+ = KR HEK S

1 =
FEEUSFT STIE PN
B SM2EE $SHSEE SH4EE SHSEFEE HHeEE HKE &/IMiE T{E

RER B B 12828 128 10H 12878 12H6H 12H4H

R R B 12:12 12:35 13:28 12:33 13:16

Xix & i = & =

SR °c 13.9 15.1 14.1 16.0 13.6

KR °c 16.0 13.8 13.6 13.2 14.4
1 BERE 3 37 500 £ 37 38 47 508l k 37 -
2 pH 8.0 7.1 7.2 7.9 74 8.0 7.1 75
3 BOD mg/L 6.3 35 3.7 4.9 43 6.3 35 45
4 COD mg/L 9.7 8.2 7.2 8.1 7.7 9.7 7.2 8.2
5 SS mg/L 13 6 8 8 8 13 6 9
6 nAFHUHEHYME mg/L 0.5 jiki 05 0.5 it e 0.5k % 0.5 0.5 jiti -
7 DO mg/L 8.5 6.0 5.7 8.6 4.4 8.6 4.4 6.6
8 HARZIHL mg/L 0.0003FKj#  0.00035j#H  0.0003>Ki#  0.0003>Ki#  0.0003Ki# 0.0003j# 0.0003iE 0.0003K i
9 &VTY mg/L N s EN s T e N dan N dan & TR
10 #A mg/L 0.001R 5 0.001 K5 0.001KR 5 0.001 35 0.0015K# 0.0017&#E 0001k 0.001FKHE
11 AffivaL mg/L 0.0055 i 0.005 ;i 0.005K ;% 0.0053K i 0.0053Ki# 0.005%# 0.0055FKiH 0.0055K i
12 EX% mg/L 0.004 0.001 0.003 0.004 0.004 0.004 0.001 0.003
13 2% mg/L 3.9 2.4 3.0 3.8 3.9 3.9 2.4 34
14 £ mg/L 1.7 1.0 1.2 1.0 1.2 1.7 1.0 1.2




